FINAL ANSWER KEY

Question 72/2023/0L

Paper Code:

Category 033/2022

Code:

Exam: Senior Superintendent (Degree Level Main Examination

2022)
Date of Test 08-06-2023
Department Police
Language: Kannada

Questionl:-Consider the following Social Reformers
(1) Ayyavu Swamikal

(2) Sahodaran K. Ayyappan

(3) R.Sankar

(4) Nithya Chaitanya Yati

Who of the above is/are actively associated with the SNDP Yogam?

8 YN A3 RPICTOFo BONed?

(1)  e0dxnE) 5T

(2) RBPCWORE 3. eaodzsog)a‘

(3) &0 3os0®

(4) o3 z§33§> o3

30edBBTY 035980 SNDP adveerio 3ot 33,030:0MN $020 05 B00DTT.

A:-(1) and (2)
(1) B3 (2)

B:-(1), (2) and (3)
(1), (2) &3> (3)

C:-(2), (3) and (4)
(2), (3) S>3 (4)

D:-(1), (2), (3) and (4)
(1), (2), (3) 23> (4)
Correct Answer:- Option-C

Question2:-Match List : | with List : Il and select the correct answer with the help of
the code given below:

List : | List : Il
(a) Raja Ram Mohan Roy (i) Kesari
(b) Annie Besant (ii) Sambad Kaumudi
(c) Kumaran Asan (iii) The common weal
(d) Bala Gangadhara Tilak (iv) Vivekodayam

283 - | @gb 283 |1 B0t BROWR BB B¢t AeBLE 3ReE® B FHB20LROT $D0dINED w§dd§o



805%333& :

Be3- | =e3 Il
(a) TI2R0IR® Jecde® Ta0d® (i)  FexO
(b) e 2330es° (i)  Rowan® TO=LA
(c) BOSAO™® esz® (iii) v St
(d) 209® Romgd 3oz (iv) QBedncmodoo

BCTE :

A:-(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
B:-(a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
C:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
D:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
Correct Answer:- Option-D

Question3:-Arrange the following events chronologically
(1) Kallumala Samaram

(2) Villuvandi Samaram

(3) Aruvipuram Siva Prathishta

(4) Vaikom Satyagraha

Select the correct answer from the code given below:

B8 FSNI Jfésﬁmfgo LRORIVEA AT RAVOIN AR
(1) 3YRo© 33000

(2) QBB FRUTO

(3) ©00dB)T0 83 BBA
(4) FBseco S@Qﬁ
FPNS FLNS BeceE® Qor 3003 emgddgb €3030, 3008 :

e

A:-(1), (2), (3), (4)
B:-(4), (3), (2), (1)
C:-(3), (2), (1), (4)
D:-(3), (1), (2), (4)

Correct Answer:- Option-C

Question4:-Which of the following is/are related to Sree Chithira Tirunal?
(1) Introduced Free Universal and Compulsory Education

(2)  First Rajpramukh of the Travancore Cochin Union

(3) Brilliant Music Composer

(4) The First Census of the state was conducted

Select the correct answer using the code given below:

8% IPNSIHNYY 0doediso Ze 2380 oomew® 1t 302 0RAT



1) oue3 7BE3T FP T@AOD égsaafgb 203003NT
2) édoa'aoafodo-m&y ugﬁm ST Tzt E’oj S0E
3) @gos oNed Zoodecess

4) oazg)d YO A9) maﬁﬁwéa&ago VB30I

TSNS 3RCEE WP 3003553 em§dd§b 3030, 353

(
(
(
(

B:-(2) and (3) only
(2) 03 (3) 9,

C:-(1), (2), (3)
(1), (2), (3)

D:-(1), (2), (3) and (4)
(1), (2), (3) =2 (4)

Correct Answer:- Option-A

Question5:-Which of the following is/are related to the French Revolution?
(1) A watershed movement in modern-history

(2) The Siege of the Bastille

(3) Jean-Jacques Rousseau is consider the father of the Revolution

(4) Tennis Court Oath

Select the correct answer using the code given below:

8% FINSI)NPY 030080 Fors® F3081 502 0PATS?

(1) 50T ASTIRRY BLIBOLT LSOIY

(2) wRe* B B0

(3) zﬁea‘-mﬁcﬁa—s dJaz”uaedﬁb 90300 TRVB 0T BOMEFRIDNG
(4) &= Bpcts’s FRI0eo

TR ACBOLR BRCE® NYor D030 FRCE® §o 302

A:-(1), (2) and (3)
(1), (2) 0 (3)

B:-(2), (3) and (4)
(2), (3) 203> (4)

C:-(4) only
(4) S5,

D:-(1), (2), (3) and (4)
(1), (2), (3) D> (4)
Correct Answer:- Option-D

Question6:-Current Director-General of Food and Agriculture Organisation.
B33 63530 30D FA F0Z0D BICL® ABee BT



A:-Kristaline Georgieva
égc‘)m 39BE D

B:-Qu Dongyu
B BoomnD
3 B

C:-Achim Steiner
€923:30¢ 3y®0°

D:-Sir John Boyd Orr.
X0° 250° me;toUs

Correct Answer:- Option-B

Question7:-Which of the following statement is correct regarding the composition of
the earth's atmoshere?
LBRRPCYE F90300I0E O TL3RN B0 0PI 03 T8 FFNT 0300= BeFF0I00 $D03I0NTS?

A:-Oxygen, the most important gas present in the atmosphere is very active in
the chemical processes of the physical and biological environment
4I93% SO z:z::)ﬁ 36366&&)3@’ dn%)m 90O BHBVTR) 2030VR0BOEDTE

B:-The most abundant gas in the atmosphere is hydrogen
H9030R0B TS eagos ézSLp TR08BY WOTTIU

C:-The three constant gases in the atmosphere are carbondioxide, ozone and
water vapour
2030VBOOBOBE) 03TDTIANOUD YOI BT WAVNFOBT QOMOT &, e38.5° LBARCT® OB

Qe €3

D:-Ozone is present in the troposphere
2.8)0en° E39eFRea0000° BY BB
Correct Answer:- Option-A

Question8:-An example for metamorphic rock is
ORDTORIBER (B0EI0RIODETE) 20T YVWIHT T

A:-Granite
caly

B:-Basalt
279500)°
(5]
C:-Quartzite
Fob3te 23,635
<3 13}
D:-Limestone
,uossgd 38¢3 (eje’jdj6 QJacaG)
Correct Answer:- Option-C

Question9:-Which among the following terms denote the periodic rise and fall of
water level in the world's seas and oceans
wNdS SoFTomNONY AedT abégcﬁ eoae?sﬁﬁb RWDI o33N



A:-Waves
eoe3ried

B:-Tides
em%gdé:)e?smi)

C:-Currents
@mar{%ﬂb

D:-Wind surge
BIOOINY eITNRLH
Correct Answer:- Option-B

Question10:-The Bhakra Nangal multipurpose project is constructed on which river?
ADTBRCYEBNY 2J0% TOMoe® FTEITO 03593 IV eFeaN ADOFZLNGS?

A:-Satlug
R3e3°

B:-Ganga
nomne

C:-Yamuna
0300

D:-Brahmaputra
SRS

Correct Answer:- Option-A

Questionl1:-The source of four rivers in Kerala is given which of the following is
correcly matched

F0YE IS QRN SANY Moﬁ@e’ﬁb BRBOING. FO0ITN BROTIT B =0 m@n@ rOsO32.

A:-Periyar - Peerumedu plateau
2003000° - SRR F gmm

B:-Bharathapuzha - Anamalai hills
PO3R)Yo - 095908, 23e3neH

® o e

C:-Kabbani - Agasthya hills
T /T - @ﬁ%ﬁgﬁ%

D:-Pamba - Sivagiri hills
202 - 83N0 ﬁeﬁgﬁ@b

Correct Answer:- Option-B

Question12:-The latest Earth observation satellite launched by ISRO on November
2022.
IS020f 202209 YR e 3o§obo Q3BT SUTICIAT 3 DETETD HUTTFE) 030007
A:-EOS - 01
B:-EOS - 03



C:-EOS - 06
D:-EQS - 04
Correct Answer:- Option-C

Questionl13:-Consider the following statements regarding the Macroeconomic
Stabilization Measures of economic reform programme in 19917
(i) Itincludes all those economic policies which intend to boost the aggregate
demand in

the economy.
(i) Itincludes all those policy reforms which have been initiated by the
government to boost

the aggregate supply of goods and services in the economy.
(iii) It includes policies for dismantling of the Administered Price Mechanism.

19910 e3DET ROPIOTHI B0 0PN 03 2P0 SPET A3 ?\géﬁ RO 0BT o8 NI ée%mfgb
30802

() ePFododd i BeBBRYRL B AeSRYR wIRROBT.
(i) eRFssadg 2080 R0 FeERY Wi FpYFod Bugen TFOR) FWOODAS dg Ded
RoEssnvEH 260 wIRe0Bs

(iii) /WO XEBLS 2363 Faodos-‘g)tpbaidgo LESEDL Y K)cém)’ﬁb WO

A:-Only (i) and (ii)
Feo (i) S0 (ii)

B:-Only (i)
(i) S8

C:-Only (ii)
(ii) Soeg

D:-Only (ii) and (iii)gexo (ii) S03 (iii)

Correct Answer:- Option-B

Questionl14:-Consider the following statements on Green Revolution in India:
(i) Green Revolution led to environmental degradation.
(ii) Green Revolution enabled India to become self sufficient in food grains and
exporter of
agricultural commodities.
(iii) Initially Green Revolution was mainly directed to increase the production of
commercial
crops only.
(iv) Green Revolution resulted in growing interpersonal inequalities and inter
regional
disparities in India.
Which of the above statements is/are correct?
03E Y BTV F90303 O B8 FYNS ée@%ﬁ@égo 20nedY

(i) 3280 5908030 SO0 WSRB31T TG 93903030
(i) =00 F080300 z,awswgp 3% qmgsmfg? BN 3R FOBONY T) BIBOSY



mawe)ozi’)odmrie» EBIR) SBER3Z.

(iii) &80T BACO @oéodogn :m%)waﬂ meﬁzg ema@ogiﬁcﬁogu éz%ﬁ@o Qe 8357203030
(iv) 328 F90303x e03R ) 3$0d0d00 @oé??éeojo 9535983NneL 0> 09030 FTeds
£9FRIORIN TO £330 0VI.

S0eIRB BePBINFE) 03503130 O03INCS?

A:-Only (i), (ii) and (iv)
(i), (ii) 03> (iv)R5eg

B:-Only (ii)
(i) S8

C:-Only (i), (ii)
(i), (ii) =098,

D:-Only (i)
(iii) S8

Correct Answer:- Option-A

Questionl15:-Which of the following is/are the schemes launched in India with a
vision of extending the coverage of irrigation and ensuring more crop per drop of
water in agriculture?

(i) Paramparagat Krishi Vikas Yojana

(ii) Pradhan Mantri Krishi Sinchayee Yojana

(iii) Pradhan Mantri Fasal Bima Yojana

(iv) Biotech Kisan Scheme

Qeoazdody H90d0F) RO B0 FaodP B8 B edrt BF WFodPo ARIVRROZ
B 030007 8 FYNTYHNYY odnz 0deewnsnvmd o3 sEToRteRNS?

(i) HCoTTINS® T TR o3ees

(ii) SR B0 FA A0woe 03ed

(iii) SPov Q8 FIO Y0 adecwd

(iv) 2030ce35° 35o0° 03ResS

A:-Only (i) and (iv)
Fezo (i) S0 (iv)

B:-Only (i)
(i) S58

C:-Only (ii)
(ii) Soeg

D:-Only (ii) and (i)
(ii) 03> (iii) 3

Correct Answer:- Option-C

Question16:-Which of the following statements is/are correct about GST?
(i)  GST is a multistage destination based tax.
(ii) Import of goods or services would be treated as interstate supplies and would



be subject

to Integrated GST.
(iii) GST will mitigate the ill effects of cascading of taxes.
(iv) Prime Minister of India is the chairman of GST Council.

28 OF £3 030 B YN 03 BedSried FOIPNES?
(i) 28 oF° &3 WRIB0SI Npars 03 FOriodmNT

(i) RSB Eme AeBre BRBF oIt AW S0 BRSNS
(il 28 3° &3 ASedodn Sorine sgedort & BogdmeRRYRL NFYS

(iv) 2030 Eoraed 2 o5 & YL’ § ePgonges

A:-Only (i)
(i) S8

B:-Only (i), (ii) and (iv)
(i), (ii) 3o (iv)

C:-Only (ii) and (iii)
(i) 02> (iii) =098

A

D:-Only (i), (ii) and (iii)
(i), (i) S0 (iii)

Correct Answer:- Option-D

Questionl7:-Which of the following is/are wasting assets?
(i)  Minerals

(ii) Solar and Wind energy

(iif) Forest and Wildlife

(iv) Water

8% FINSIHNYS 03000 g_;soﬁ%@o ?qﬂz—‘mg%d?
(i) DIWNO

(i) 290 D T3S B3
(iii) eﬂdez? R0 dga%c&’)
(iv) Qeoo

A:-Only (i)
(i) S8

B:-Only (ii) and (iv)
(ii) =030 (iv) S8
C:-Only (iii)
(i) S8,
D:-All the above
RIS dQFf
Correct Answer:- Option-A

Questionl18:-Which of the following is/are a NITI Aayog initiative under Aspirational
Districts programme aims to provide home care to COVID 19 patients?



(i) Saksham Bitiyan Abhiyan

(i)  Surakshit Hum Surakshit Tum

(iii) Pradhan Mantri Suraksha Bima Yojana
(iv) Ayushman Sahakar Scheme

8% IYNTIYNYY 030eF)B0 35003030 VLY FTo0dEFTRT B0 NITI esodeent gusTROD)
COVID 19 Breehngn Soxad esde’,@odoﬁb WG AROS rbaai)go BRODT

(i) mogo De3odren® TN

(i) RTFS® B0® RTIS® BoR*

(iii) SPov Qg BT V0 03w

(iv) @ma—a@a‘i BT 03RCHN

A:-Only (i) and (ii)
(i) S0 (ii) S0e3

(g

B:-Only (ii)
(ii) Soeg

C:-Only (ii) and (iv)
(ii) &0 (iv) S8

D:-Only (iv)
(iv) <998,

Correct Answer:- Option-B

Question19:-Identify the true statements with regard to the fundamental rights in
Indian Constitution

(1) Article 14 is available only to citizen of India

(2) Article 19 is available to any person on the soil of India

(3) Article 25 is available to any person on the soil of India

(4) Article 28 is available to any person on the soil of India

990803 FOQPINE Y 0P3RS Sﬁ)m?ﬁ [0 0RNAIT 03 A3 éce?i%’ﬁ@’ga nOCO82
(1) est3ezer® 14 290030 ©ontdsOn 3333 c)z:i&)d

(2) est3eme® 19 50030 S Soee3 odoa@de saﬁ ozjc‘:)d

(3) estd3ezer® 25 299030 Sw 0drow)t3e dz%ﬁ en:ié:)d

(4) est3ezer 28 030 SR Soeel ojoa@de w%ﬁ ozp:)d

A:-(1) and (2)
(1)3030 (2)

B:-(2) and (4)
(2)R03> (4)

C:-(1) and (4)
(1)

&

D:-(3) and (4)
(3)20%> (4)

Correct Answer:- Option-D



Question20:-The establishment of All India Khadi and Village Industries Board is
related to

©9D© 27903 ol SO @dfacd%m S00EL03 m@ﬁa”oﬁw 200 0RIT

A:-Article 40 of Indian Constitution
203030 B0APIRE 408€ Y

B:-Article 42 of Indian Constitution
790803 BoATIRRE 42F¢ DY

C:-Article 43 of Indian Constitution
299032030 B0DFIRE 43F¢ Y

D:-Article 45 of Indian Constitution
90803 BoDTIRRE 457¢ DY

Correct Answer:- Option-C
Question21:-Which among the following is a ground for impeachment of the
President of India?
8% FINSI)NPY 030080 03 @f’;?p BRCTIBRCI TN TOT €000NT3?

A:-Violation of the constitution
FOQTIRE YVYOPS

B:-No Confidence of the legislature
FIXTOONE DZIFIY

C:-Dissatisfaction with the cabinet
RUB ROR)EID W ORSIOPIT

D:-All of the above
30eOS DY

Correct Answer:- Option-A

Question22:-Find out the wrong statement with regard to the office of Governor
(1) Governor is a part of state legislature

(2) Governor has power to appoint judges of state high court

(3) Governor has power to nominate members to state legislature

(4) Governor has power to appoint his council of ministers

oagmod B23e01 20200AT 03 :«Sa’%)o éee?ﬁodggo BOBOHEBOD
(1) oagmodo Oo%s DIRTIONT OO oNn
(2) 0% emzz,ds mapimooiod maaboaeéd@ BEAR oa%smoaﬁ 290 AT
(3) 0% mﬁmor@ﬁd?@ DORONTCEBT SIBV mgmo@ﬁ 9T AT
(4) oagmoaﬁ 3§5 3008 mocs’e‘?ojogu RCARIRN 9TITC AT

A:-(1)

B:-(2)

C:-(3)



D:-(4)
Correct Answer:- Option-B

Question23:-Who among the following is the Chairperson of GST Council?
8% 3YNTICY 035900 GST 2Qe° © e‘)zz;,sigoaﬁgad

A:-Prime Minister of India
IV B PR I0QS

B:-Finance Minister of India
L0330 BEITIRD AW

C:-Union Minister of State (Finance)
6eog oazg 23S0 (BITIRD)

D:-A person elected from the members of GST council
2 da° &3 6"0(‘95)‘ o 365§8065 WOP003TH ?é

Correct Answer:- Option-B

Question24:-In which year the special status of Jammu and Kashmir was revoked?

w30 P FGOT DBER FIFVRITSF 0300 IRFBY &03rBOBRFT0B

A:-2017
B:-2018
C:-2019
D:-2020
Correct Answer:- Option-C
Question25:-Name the rescue operation of Kerala police during Kerala floods 2018.
3e0¥ Zow 2018 T 3onydrBY 0¥ Fpedexd TFme FoodrerwicEodgy Bx0A.
A:-Operation Jalaraksha
SBVCRV® WLTTD
B:-Operation Rahath
BDVCRN® DoBS®
C:-Operation Karuna
BRBTCRN® FOOT
D:-Operation Madad
BDVCRD® DOWIR®
Correct Answer:- Option-A

Question26:- is a unified mobile app developed by Kerala State IT Mission
that offer 100 e-services from 17 different state departments?
SO 0% 083 DoRw™E eazpsdagam DECT3 d/az%ef ©9)TEB* SNGOT 950 17

SMIA] 0% qeealnYos 100 'Q-ﬁcﬁmfﬁb NEBOZT.

A:-MAPATHON Kerala



B:-mKeralam

C:-Esms

D:-GIMS

Correct Answer:- Option-B

Question27:-Doctrine of is responsible for judicial control over
administrative actions.
BEIIZT Torie 3oedS myodseon oo es ATR03:3) T2 €0=30NGS.

A:-Judicial Review
mzpimoﬁ AROBE

B:-Rule of Law
TIRRTY V0OID

C:-Delegated Legislation
Q0de3 xS

D:-Separation of Powers
w@w&ﬁ@@%ﬁa’

Correct Answer:- Option-B
Question28:-Official Language Legislative Commission is situated at
RT3 Yoo Foxzoon Lodeensy) SeSrieoRa

A:-Kollam
RO

B:-Pathanamthitta
5§a503%g

C:-Thiruvananthapuram
S0VIVOSR)T0

D:-Kozhikode
BRCYCTHCTS

Correct Answer:- Option-C

Question29:-Institute for Watershed Development and Management Kerala is
situated at :
3ed¥ %eRBOT WPI R D030 ABEBE0 FOF VOIZ)EO

A:-Ottapalam
uégmoo

B:-Chadayamangalam
W odooonte

C:-Varapuzha



SOR)Y
D:-Pappinaseri
DAV
Correct Answer:- Option-B

Question30:-On which of the following grounds, the validity of delegated legislation
cannot be challenged?
B4 FPNT 03003 SPCTE 30063, N03RCLI ToARE ?oocjogdgo ggsmm@ag?

A:-Unreasonableness
IRRV0TIS

B:-Arbitratiness
0900300333

C:-Malafides
maem%csz

D:-Violation of the principles of natural justice
SRNET amzpjad 3§r1@e’ GIMSTery

Correct Answer:- Option-D

Question31:-Name the project started by the Kerala government for the
rehabilitation of unwed mothers and their children.
FCOY ATFUY) D983 9030003 030 &S0 mgv RVRERSNON FIT 0D oi/amﬁodog)

BR02 0B 930 mge;b

A:-Snehita
§c&3

B:-Snehasparsham
gmgz:w

C:-Asraya
33030
o/

D:-Snehahastham
§e§$§w‘

Correct Answer:- Option-B

Question32:-The present Chairman of Kerala State Administrative Tribunal
Fe0Y 0% SEYI mzsobz:bozse?odo B3 eaz?;,jigdo

A:-C K Abdul Rehim
23 eazoooef T&e35®

B:-P K Keshavan
S T Fe3I0°

C:-M K Zakir
D0 F. 233C0°

D:-Benny Varghese



wgsﬁer#

Correct Answer:- Option-A

Question33:-Name the health insurance plan and accident death coverage for the
guest workers in Kerala
FCOYR 930 FORNTONR eadfaeg DB9 03RCHT [0 RFFIS B0 dgﬁcﬁoﬁb B0

A:-Niyukti
©adood
B:-Kaivalya
3RO
3

C:-Awas
e3594°

D:-Ayush
30300
Correct Answer:- Option-C

Question34:-In 2005 a new employment availability scheme has subsumed the
Food for Work programme in rural India. Which was that programme?
200509 ®Rx sutdeen e)zg:s’ 0dseezsod 0 Mgee 0SB FOTTN 8HT TOEFRIDI)

WHD BT, &8 F20RETR 037007

A:-SRGY

B:-RLEGP

C:-TRYSEM

D:-MGNREGA

Correct Answer:- Option-D
Ci]uestion35:-The Protection of Woman from Domestic Violence Act was enacted in
the year

TOLOVT 07T S0&F03T TTES aao&)dodoﬁb IRETY 230013 SCL0Z?

A:-2004

B:-2005

C:-2006

D:-2007

Correct Answer:- Option-B
Question36:-The first Kudumbasree neighbourhood group for transgenders in Kerala
is known as

3e0vRQ 33codd DoNnemen BeBe Bedowge S8BT M0H) 0By FB0LUNRIZE.

A:-Thelima
Al INOD)



B:-Thalir
RFYO°

C:-Mazaville
d)mé’og

D:-Manaswini
was?go

Correct Answer:- Option-D
Question37:-Which statement is incorrect?
035953 BCYFOIND 3@@:5?

A:-Cholera is caused by a bacterium
ToT? 2WFED030R0T YVOoEIMIITI

B:-Measles is caused by a virus
BEIOR) T A0 GVOBrHIT

C:-Malaria is caused by a bacterium
=000 29Fed0dIRNORT evoeserizn

D:-Ringworm infection is caused by a fungus
80930‘? ASCOT) éeﬂeogaocﬁ &V0E3MOZT

Correct Answer:- Option-C
Question38:-'Umami' is a
" eUEI" 0do0

A:-Part of cerebellum
ABIR* © o

B:-Sense of taste
o230 533

C:-Retinal ganglion
de3ne® n%oﬁmoima‘

D:-Muscle stretch reflex
mdod» Soﬁnﬁo&)% g 3593

Correct Answer:- Option-B

Question39:-Read the statements given below, and identify the correct option:
(i) Rickets in man is due to the deficiency of calciferol.

(ii)  Perinicious anemia in man is due to the deficiency of cynacobalamin.

(iii) Pellagra in man is due to the deficiency of retinol.

(iv) Beriberi in man is due to deficiency of Vitamin 5.

B QeRBLR BedBriedy LB S0P D0k ©adedsy faTod3

(i) 5PFoeer Eecdad0r doab%dg? B35 euotsar3d

(ii) z:babo—-’z?&g? S3ORCB030F TZ&HLCRI 30oBACLIISIT® ELHTI00TN
(iii) aSJabo‘-’gaSg? BYNe BE3mee® Ee3300waN



(iv) dom§d€2 230230 Qe D1 FRT300TaN

A:-All are correct
Y3 3D03INT

B:-Only (i) is correct
(i) =098 xDOPNT

:-(i), (ii) and (iv) are correct
(i), (ii) 03> (iv) DadreNS

D:-Only (iii) is correct
(iii) Soeg aDdLNT
Correct Answer:- Option-C

Question40:-Gigantism is a condition
22030008350 2,080 %Bai)oﬁd’

A:-Caused by excessive secretion of Somatotrophin
mmmeﬂ@e&g £930359% FORODTOI0T V0E3NIZT

B:-Caused by hyposecretion of TSH
TSH %@acﬂé‘-’wa‘ N0T eV0oe3arIZT

C:-Caused by excessive secretion of Prolactin
é@e%)aga‘ S 09303598 FDROFTO0T V0E3NIZT

D:-Caused by excessive secretion of gonadotropin
Rendectsnead 9803598 ZARIFO0E GVoLsaNIIS

Correct Answer:- Option-A
Question41:-From the following identify the green house gas.

B8 FYNII)NF 0T B0 ON esK)e)dﬁb noso8%

A:-Helium
&edodoo

B:-Oxygen
SWRT

C:-Methane
Aoegend

D:-Sulfur oxide
JQ0F &35 3¢
@ 3)
Correct Answer:- Option-C
Question42:-Normal systolic pressure of a healthy person is
ead/aegafos ?_%oodo mmg 2@@@6‘* W3@
A:-80 mm Hg
B:-100 mm Hg



C:-180 mm Hg

D:-120 mm Hg

Correct Answer:- Option-D
Question43:-Svante Paabo got nobel prize in Physiology 2022 for discovery of
B0 ToesR BAFIPTN B0eCaRE 2022 TQ derier 33 MoN SEE0O

A:-Receptors for temperature and touch
JIDIND &3> BTN MYBT

B:-Hepatitis C virus
B3 03¢ 2 J0RE

C:-Previously unknown hominin, Denisova
%07 SYDYT BACIIN®, BARPCID

D:-How cell sense and adapt to oxygen availability
BWCSBRCBE ROBCTBN B LWUTR ozga"ﬁ Bert BORBRLDIT

Correct Answer:- Option-C
Question44:-'Break the Chain' campaign is related to prevent the spread of
'35t O z%a" £92) 03001 ) wcs’o@dﬁb 3c§mg®o 20 0T

A:-Rabies virus
deext igjdns

B:-Monkey pox virus
S00% OB ﬁddss

C:-Hepatitis B virus
BDe3e3x° A 30

D:-None of these
A)NYY 0dr0HBP VY
Correct Answer:- Option-D

Question45:-Which among the following universal constants has the dimensions of
angular momentum?
8 YN FoBEIT A02087FY 0300 BReRC0d es:Sent es0dipzdnesd B0tws?

A:-The velocity of light
W3S Sent

B:-The Boltzmann's constant
airaw;fma‘ 2»69

C:-The Plank's constant
E"ggoas ] ?\g

D:-The Bohr magneton
Wecot m&ww

Correct Answer:- Option-C



Question46:-Light exhibits both the wave-like and particle-like characteristics. The
particle nature of light is revealed in

380 300t VHE S0 FeAI03B meoe)geamfﬁb SBBROIT. IR Ted gzpwcseg
2&00n=NT

A:-Polarization
93&66’689

B:-Photoelectric effect
go&i’)%ﬁos"' RO

C:-Kerr effect
F0° B0FORD

D:-Interference
CIIACH
Correct Answer:- Option-B

Question47:-Let "F" be the gravitational force of attraction between two objects.
What will be the gravitational force between these two objects if the mass of one
object is doubled and the distance between them is reduced to half of its initial
value?

"F" 0@ SFHriY BB esBRe o MitbsFar0d 3300N09. 2,080 ST Zgivedodgd
BroenteAEt S03> 6FHre BEIT ©030F) WGE0 ¥T0RT IRYH BTFEFH> FRLHIRET S
OB FRorY FEIIT NOCITITRE F03 WO DVY?

A:-2F

B:-4F

C:-8F

D:-16F

Correct Answer:- Option-C

Question48:-The India based Neutrino Observatory project (INO) is proposed in
2019. In which place the INO research facilities are established?
PI03IT 3503 gmgm egroood) ke (INO) o5 201909 Sreareend. oo 396

INO Fodpcgimo Porivg> mareans

A:-Theni, Tamilnadu
3eQ), 3AOYOTIBY

B:-Kotta, Rajasthan
B39, oaz:m@as

C:-BARC, Mumbai
BARC, Rx00%

D:-Mount Abu, Rajasthan
BIV0E3° RV, TILWRID



Correct Answer:- Option-A

Question49:-Which of the following electronic configuration does not obey Hunds
rule of maximum multiplicity?

88 3YNE 0300 DSPPT F&Q@ﬁﬁ(‘?i&s nog aocsf\’&)obz:bwgo 2990V
A:-[t]
B:- [ 1] ]
C:-[1L] EIENE|
D

Correct Answer:- Option-B
Question50:-Elements with outer electronic configuration arensnys

BS0 aégﬁ)ﬁ‘ Fa&goﬁdeéa‘ ns2np® TSOOOV 903N

A:-Alkaline earth metals
Fodeady 3RN003 SeHried

B:-Transition elements
JOSIBERB03 9031YD

C:-Chalcogens
md/%cﬁas ned

D:-Noble gases
BRSO QN

Correct Answer:- Option-D

Question51:-Which statement is correct?
0399x3 BeYF 30035NTS?

A:-vu,0H iS a strong base
NH,0H 2,000 WO 3e3¢ 3N

B:- crscoone gives acidic solution in water
CHycooN: QEDTVEY B8AE0D (RBERDT0 VB V.08

C:-cHsco0E is a weak acid
CH3CO0H GRIE® 3:39559NT

D:-vu,c1 gives alkaline solution in water
vi,cl QeOVEY Fodeady RITEDTO VBOZT
[a2] q -0
Correct Answer:- Option-C
Question52:-Nobel prize winners in chemistry 2022
0500308 393 2022 SQ Sewierf B30 dedesdo

A:-K. Barry Sharpless
3. méa Doxte e3xF



B:-Morten Meldal
R3¢ Bt

C:-Carolyn R Bertozzi
ﬁa?sdfa@a‘ e30° 20630600

D:-All of the above
RIS HQJ)

Correct Answer:- Option-D

Question53:-What is the theme of Kochi-Muziris Biennale 20227
amsz;:mzsass W26 20223 RSO HIO

A:-Possibilities for a Non-Alienated Life
R0EC0XYT ﬁcdéﬁm?@r{%

B:-In Our Blood Flow Ink and Fire
ﬁd@o 036 B0ISY 390 0P Jod

C:-In Your Veins Flow Ink and Fire
K)%J d§m@§mfgg 390 S0 2303 HO03WITI

D:-In Our Veins Flow Ink and Fire
655@9 TT0ovNi¥Y 0% S0 2303 $aoin§d

Correct Answer:- Option-D

Question54:-P T Usha became the President of which sports organization in
December 20227
.83 GUR [0 B0 T* 2022 BY 0dress Fewe K0Fod eacggoaﬂcgdo?

A:-Athletic Federation of India
TRITE HETEBD° e3° YoBRAdIe

B:-Sports Authority of India
{0303 FCTo 59 HTT

C:-Indian Olympic Association
2908030 woTE 3o§

D:-Olympic Association in India
03B WwHoAT® WRRCH0CRD

Correct Answer:- Option-C

Question55:-Tomb of Sand, a novel, won which of the following awards?
£3000° e35° mﬁocs‘, TAB0WD B FYNT 0300 & é_f’,gmfgo ﬁaod?

A:-International Booker Prize 2022
eaoéoag%deob WSRTOE é éé 2022

B:-International Booker Prize 2021
eaoéoa&mb 2WSTOE g éé 2021
C:-Booker Prize 2022



WRTO® B2 2022

D:-JCB Prize for Literature 2022
méotg’a%ﬂJCB 8332022

Correct Answer:- Option-A

Question56:-Which of the following is correct with regard to India's first Metro
Railway?
SOO030¥ a)ga"eaodogp odoozent m@&ﬁmoﬂo&?

A:-New Delhi 1982
S3B»S 1982

B:-Kolkata 1984
ﬁfae%ﬁ@ 1984

C:-Mumbai 1982
So00ed 1982

D:-New Delhi 1967
S3F®SD 1967

Correct Answer:- Option-B
Question57:-When was Malayala Aikyavedi established?
SOO03Y a)ga"eaodogn 0300 m@&ﬁ@ao&)&?

A:-November 2009
S=0wo 2009

B:-October 2010
@3@5&)0"' 2010

C:-October 2009
@%Jaedmos 2007

D:-February 2009
P30 2009

Correct Answer:- Option-A

Question58:-Which of the following is true?
8% FINSIHNPY 0d0oRB0 2s?

A:-Email addresses are not case sensitive but email passwords are case
sensitive
Q23000 QFIRND Fa° FQL3D 99 BT B-30eeF Hor Iw'e Med Fez® IED® NCLITI

B:-Email addresses and email passwords are case sensitive
B-30e0° JPANH P> F-Foee® Fox° Iw'e NMed Fea° IQES® NCLZT

C:-Email addresses and email passwords are not case sensitive
Q-230e0° QFARND BB B-x30eeF Hox° I@'e Med Fez® IQD° sNCLZHVY



D:-Email addresses and email passwords need special characters
B-R0eSF HFARND 0> F-Foew* Dor® It IR IFeR oY Brigeds

Correct Answer:- Option-A
Question59:-What does Antropocene refer to?
€3053/9 fO2C™° odoa:g)wga Ve

A:-It is another name for anthropology.
TR VIS, SOZRQ0BO B0

B:-It refers to the study of human extinction.
RASIOWRINAR ALY eacgod)&dﬁb AAWRIZT

C:-lt is the current geological age in which human activity changes
environment.
QRO BB LRF AT a30NwNG, JBOY SV wedBe3Fodn ﬁaﬁdﬁgb WTI0ROZT

D:-It is the name of a film by Hitchcock.
TR &t5° ToF BOTUIH BI0O

Correct Answer:- Option-C
Question60:-From the following devices, which one is not a pointing device?
8% FYNT BoFSNFY 030930 D000 FIFSSL)

A:-Mouse
R99%°

B:-Joystick
25083

C:-Digitizer Tablet
am:};uoe mgnéss

D:-Light Pen

SISET

Correct Answer:- Option-C

Question61:-Process of reading data from permanent memory and writing it to
computer's main memory is called
aag:; 03000 0T cgems@ WBOT 0D TOBPEI0* © dw:;zs) 53053007 T3V FF 03 0B

FB0300380

A:-Saving the data
@ee5o3no QLIROINIZE

B:-Loading the data
Bee5o3n0 SeE® [BeE o3

C:-Writing the data
écmsgo WB0300EO

D:-Reading the data
éeméy LBOR)BO



Correct Answer:- Option-B

Question62:-Identify the protocol primarily used for browsing data in Internet.
Q0L £5° VY Beeso WBA0NT IREE FPFITN WHRS FPcedpcter g rHSL8d

A:-FTP

B:-TCP

C:-TFTP

D:-HTTP

Correct Answer:- Option-D

Question63:-Machine learning is a subject of
03008, 593 YBT3 euBLIariseNTs

A:-Deep learning
Y50 FOF

B:-Artificial Intelligence
33 uoﬁodog

C:-Computer Vision
Sodnpo o,

D:-None of the above
R0eDT 0300FBO 9

Correct Answer:- Option-B
Question64:-Choose the language which is best suited for data science.
T308 DLW, ZTDAS oR03TO BSORF)cse

A:-PHP

B:-PASCAL

C:-R

D:-Ruby

Correct Answer:- Option-C

Question65:-Under the Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act, 2013 "unorganised sector"” in relation to a workplace
means an enterprise owned by individuals or self-employed workers and engaged
in the production or sale of goods or providing service of any kind whatsoever, and
where the enterprise employs workers, the number of such workers is less than

TS g%ﬁ@ B0&$0300 &0NT 3CIBY (IBRELDT, AR [P F0HIT) T, 2013 3
9B0LY "9R0578338 S©od" FORT g@% 20002303 gﬁﬁ@b 99 go:bo emcifazseﬁ TINETO
m@esgcs 2030 FOTONY YUTIBES 9T F0ERY ZBNCIS en)%sm 9B 0309)Te Dedodd
ﬁeﬁod@g WENROFEO B02B) emcg:n@ Ea:)os'aﬁﬁb RCAIABRORBT, 903H FTNOE TT 3033291» TR
ProNcin]

A:-20



B:-10
C:-25
D:-50
Correct Answer:- Option-B

Question66:-Under the Right to Information Act, the Chief Information
Commissioner and Information Commissioners of the Central Information
Commission shall be appointed by the President on the recommendation of a
committee consisting of

S70&3 3?3 F200TALBOIY, Feor Biodsd esodeena :w%) R79%8 30300T0L ) RI0dd

30300503 w¢rlR0R0IS Z30d) 80T 3redn Tog@Baneh BedT SuEIFT

A:-The Prime Minister and the Council of Ministers
@zpaai B0Q8 R0 JoR3NY S00EY

B:-The Prime Minister, the Chief Justice of India and a Cabinet Minister
ESIARIM VI AR ofc A mo%) m{pdoda.oér S030 Eazg;')ﬁés‘ 308

C:-The Prime Minister, Leader of Opposition in the Lok Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister
STVR0QSE, SeeTRLI0L VLR FTW WI03T S0 FHR B0Q VIROVTCE BT FIBI FeoT,

TORIES® =0Q8
D:-The Prime Minister, Leader of Opposition in the Rajya Sabha and a Union

Cabinet Minister to be nominated by the Prime Minister
BPIRVIQS, oagmjodo DTBREE TTB 03T 20D FHR F0Q VIROVTCE BT FIBO Feo

mazi’)a?és‘ 30Q8
Correct Answer:- Option-C

Question67:-'Stipulated time limit' under the Kerala State Right to Service Act, 2012
means
5C0Y Oo%s E{enp) &?o o003, 20123 ©9B03@ INDI 33003 Q3

A:-The maximum time limit notified under section 3 to provide the service by
the designated
officer or to dispose of an application for such service.
RATBAT 9T ,n"ea"owgp WHE NI P 03B JCSMIN eszﬁFodoﬁb DE3ez500 RJBV

PR 30 3803 xtdnerd ﬁa;-’e.;\ AR0030T A8
B:-The minimum time limit notified under section 3 to provide the service by

the designated officer or to dispose of an application for such service.
AT BAT 9TV ﬁcdojogo WENZEV WP 903B ACSMIN eazSFcﬁogo D300 SINEED

AR 30 80 s tdnerad TR $300003 o3

C:-30 days from the date of application.
29236 3B Hwo0zR0E 30 BV

D:-60 days from the date of application.
9236 FOIE HPo03R0E 60 DV

Correct Answer:- Option-A



Question68:-The Chairman and every other Member of the Central Administrative
Tribunal shall be appointed by the President of India after consultation with
BeoQeody EY3 Dy0drEO0EP0d) eacggdo S03> 730 F3odey FEFOF> AP Bo30
033 eazggdo Ne30T BB,

A:-The Prime Minister
ood 300y

B:-The Vice President
SUDIPT
zso\x

C:-The Attorney General of India
PIVIB e3639Q€ WRO®

D:-The Chief Justice of India
03B mo%) c‘oaap&)m&
Correct Answer:- Option-D

Question69:-Under the Maintenance and Welfare of Parents and Senior Citizens Act
2007, the application for maintenance may be made
FRCRTOY [0 SO0 TNOTT AT B B30 G%Jaeo Fo00T, 200730 B0LY, wzs R0,

0923 DR E BT DINBL BIRD

A:-By the Senior Citizen
%03 ®ndTOTI

B:-By a Parent
RPCRTO0T

C:-An Organisation authorised in this behalf
B8 BTN 9TIT BRORTOI 3o§

D:-All the above
3009 DY

Correct Answer:- Option-D

Question70:-Who is presently the Chairperson of the National Human Rights
Commission, India?
BB P03 oaédeob SI0R s;amv esodveena @%Sgdo 03050007

A:-Justice Ranganath Misra
mzsobm& Sonmen® QY

B:-Justice Arun Kumar Mishra
9030003F ITLF® TIBIO® OFY

C:-Justice H. L. Dattu
©903F0NRIE DFF. HOP. T

D:-Justice S A Bobde
m?jo&)m\%r .. e
(<]

Correct Answer:- Option-B



Question71:-In a furniture showroom, a chair for sale is marked with a label price at
25% discount on its printed price. In June, the showroom offers a 10% winter offer
on the label price. A customer bought the chair for Rs. 810. What is the printed
price of the chair?

e 20° B0eCRF* VY, [BPT3E0E B 0dF BFT FH3 WS 25% dodreaddoddg
See 0 38303,0001F RIBLERVING. AT BY, BRCUP0 Sruer WBodY 10% wIneen
BREOI0TO AEBIZH, MYHTTLYT B2de 0Py Twe. 810 BudFad BnR3S WS aFo?

A:-900

B:-1200

C:-950

D:-1250

Correct Answer:- Option-B

Question72:-Starting from a place A, Ramu walks 200m towards north then turns
towards right and walks 100m. After that he turns right and walks 80m, then turns
right and walks 50m. The current position of Ramu with respect to A is

20630 ge’e’aoci D TR Taxdw eV3CE FEWI 200 e BE@O ©§o3T zooﬁéédoﬁ 100 oe
SE0ILTIN. BT Bo3C B 'we)ﬁﬁédoﬁ 80 doe FBadvzas, Bo3T zoe)ééédoﬁ 50 doe
SB03LFTIN. & 1 B0 0PI Ta 9RT FROI m@aﬁ

A:-120m towards North East
égaagicS 331 120 oe

B:-120m towards South West
a?esadogcs 3@ 120 oe

C:-130m towards North East
égaagd @3N 130 oe

D:-130m towards South West

ﬁ:dog 3@t 130 oe.

J
Correct Answer:- Option-C

Question73:-Thevalueof s+ s+ st - 55 + 35 + 72 IS

Correct Answer:- Option-D

Question74:-Find the odd among the following:
8% FFNIJ)NYD z:‘)’sasgo TOBIHLBOD



A:-TUNISIA

B:-SENEGAL

C:-DENMARK

D:-NAIROBI

Correct Answer:- Option-D

Question75:-If e = (5.2 | then the value of x is
2r

WORD e Lz et = (o2, NPT, X T 550%)

A:-.5
B:-1
C:-2
D:-3
Correct Answer:- Option-C

Question76:-A clock loses 30 seconds in each hour. If the clock is set right time at
12 noon on Sunday, what angle will the hour needle and minute needle make each
other at midnight on the same day?

nR0I0FH) B8 roedrt 30 z?ﬁocs’oriee’go 6@3&503@3’@&3. ri@cﬁoadﬁﬁb oD BoGe® 12 riotdr
200300N BROITT, 9Te DIT ngoq_@cmg? ro&d 3% &30 AMRE A% JCFC 03rex
mmwgp R90E0Zs?

A:-36°

B:-33°

C:-30°

D:-72°

Correct Answer:- Option-B

Question77:-Let p and g be two positive integers. The HCF of p and q is 16 and the
LCM of p and g is 143 times HCF of p and q. If one number lies between 100 and
200, then the sum of the digits of the other number is

P Qg 0B cjmgﬁ FPHr0sNFaN0Y, p 03> q 8 HCF 16 03> p o3> g & LCM 143
2300 HCFesATs. 2,000 309%01).) 100 203> 20038 BEIES 9T, adgodo 50&35033 903N 303

A:-5

B:-10

C:-12

D:-14

Correct Answer:- Option-B

Question78:-Select the related letters which replace the question mark from the
given alternatives.
FJM : HFS : DKN : ?



QBT Bodser 0doridon ST zséaodoﬁb WBDR0S 500003 eagdmfﬁb ©303), 358
FJM : HFS : DKN : ?

A:-FGT

B:-FDS

C:-FHS

D:-FFT

Correct Answer:- Option-A

Question79:-Malala has twice as many brothers as she has sisters. The number of
sisters of Majeed, brother of Malala, is one less than the number of brothers he has.
The number of sisters of Malala is

SO 9[CO FBATO0ILON0Z DTREO Fedd BLd 5£/aec$dd§o BRORTIT. DO 9Z0
FBPET e’ [0 3B BO03EC 5083 950 FBACBTT F0a3N0I 20630 TR, Boeeed
3BRO0IT osk

A:-3

B:-4

C:-5

D:-6

Correct Answer:- Option-A

Question80:-A right circular cone is cut with a plane parallel to its base into a small
cone and a frustum having their heights in the ratio 2 : 1. Then the ratio of the
volume of small cone to the volume of frustum is

WO JFITIOW BRCD eago BT 398, 5309000300 3[R0V Ay Ter® 3N TZOFLNOIZT
R0 2 1 1 9300033 OJ)NY agddgb BSORTOS &qw eaﬁb B30RMOZW

A:-19:8

B:-8.27

C:-27:8

D:-8:19

Correct Answer:- Option-D

Question81:-Fill up with suitable preposition.
It is fruitless to lament our tragedies.

A:-on

B:-over

C:-through

D:-with

Correct Answer:- Option-B

Question82:-Correct the sentence:



| (complete) my homework before my parents arrived.
A:-completed
B:-have completed
C:-had completed
D:-have been completed
Correct Answer:- Option-C
Question83:-He was lucky before the accident.
A:-saving
B:-to have saved
C:-to save
D:-to have been saved
Correct Answer:- Option-D
Question84:-Suresh is (skillful) in this work than his friend Karthik.
A:-more skillful
B:-has skillful
C:-most skillful
D:-has been skillful
Correct Answer:- Option-A

Question85:-Add suitable question tag.
She barely spoke to Ramesh during the lunchtime, ?

A:-will she?
B:-did she?
C:-didn't she?
D:-doesn't she?
Correct Answer:- Option-B
Question86:-They know him. (Change into Passive form)
A:-He was known to them.
B:-He is known to them.
C:-He has been known to them.
D:-He had been known to them.
Correct Answer:- Option-B
Question87:-The word that is the synonym of 'prudent’ is
A:-dispel
B:-discredit
C:-discreet
D:-distinct



Correct Answer:- Option-C
Question88:-The word that is the antonym of 'acquit’ is

A:-condemn

B:-conceal

C:-concur

D:-confabulate

Correct Answer:- Option-A
Question89:-Find out the correctly spelt word.

A:-Enterpreneur

B:-Entrepreneur

C:-Enterprenure

D:-Entrepreneaur

Correct Answer:- Option-B

Question90:-Provide one-word substitute for the following:
One who is regaining his health after an illness.

A:-Cosmopolitan

B:-Connoisseur

C:-Cynic

D:-Convalescent

Correct Answer:- Option-D
Question91:-3NIHNYY oim@dgb 32T WB0ILSNTS

A:-Q39:303

B:-&)@eﬁoé
C:-&m§03
D:-&)BDOdoS

Correct Answer:- Option-A
Question92:-3¢¥NIZHNYY 30450 DBexed 03I0F)BO?

A:-Qeed
B:-Seri=oNn
C:-309
D:- Q2o

Correct Answer:- Option-B
Question93:-'man ""‘Q‘?@‘O T 239230 - B8 MATI03) 9



A:-e33003 éngso:-‘s’ DWOE &gogd
B:-3e 18 38R0 305003080 B30
de3 Q 23
C:-08 9030 DLW RIBO
D:-D230¢ 3RBORBBT 339030 ai‘zgogd

Correct Answer:- Option-C
Question94:-'®d 303" H0E3

A:-B0D0D0E BRIV SRE 9030
B:-30=300080008 %0083 SRE 3030
C:-aamcg@oci BB JRE FHYO
D:-%3005 ®0x0t3 SRe Fg0dd

Correct Answer:- Option-B
Question95:-8 3¥NTIHNYY x0035ec mg 03503307

A:-DoR,0 930 QeI WD

B:-€9530/0 Dm0 VCISO WOE0
C:-0oRU0 ACRS 9TTS 2000V
D:-0o®/0 953000 QCRSD WO0TR)

Correct Answer:- Option-D
Question96:-file mqsmmqsrsm sgw 33

A:-3BE3
B:-moe3
C:-TR0se30
D:-8x0s08

Correct Answer:- Option-A
Question97:-'I0003503)" 20T

A:-3033 35303
B:-308 S008mers
C-gp
D:-2000%0 R35303)

Correct Answer:- Option-C

Question98:-2.8x), PR, BEFRV, BIPBR, 8920 VPR- YI)NFY R OB IW 03TIR30?



A:-23970
B:-QgQ=0
C:-3
D:-3eg9z0
Correct Answer:- Option-A
Question99:-'F&e' SO 'QOT' T8 FWNL €D YVoEFNIT FEOR I
A:-S003e07,
B:-=350&03
C:-Sozeom
D:-80é&cos
Correct Answer:- Option-C
Question100:-8% 3YNIHNFY Fow) 0FST0 B3RP R D3PI 595903 0IRT)BO?
A:-09038 03
B:-2300030800s3 Qe
C:-093Q18 60
D:- 0939083 e

Correct Answer:- Option-A



